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Farr 2015

Pat Rossi Name

Solutions appear on the SOLUTIONS page.

L [ (5" + 423 + 624 6) do = 2° + ' + 32° + 62 + C
2. [ (sin (x) + sec (z) tan (x)) dz = — cos (z) + sec (z) + C
3. [P0 (628 + 422 + da) da = 22T
4. [ (823 +1202)"° (22 + 2) do = 5 (823 + 1242) " 4+ C
5. [sin (2% 4 32?) (622 4 122) dz = —2cos (2° + 32%) + C

6. [ stz de = §In 322 + 62|+ C

7. 2 In(sin (z))] = =@ — cot ()

sin(x)

8. L In (32 — 9z +5)] = 7959

d r2—1 _ =z 1
9da:|:ln< z):|_121_2z

Alternativley:
A J22=1) | = 11 (1271>7% 20(0)-((=* 1) _ 4241
dx T - (ﬁ)% 2 T 2 2z (x2—1)

10. [7= (22 = 32 +1)° (82 — 12) do = —624

r=—1
11. % [ecos(z)] = —sin () e®)

12. [ 7Sdr=sin™! (§) +C
13. ~
(a) In(10) ~ 2.3

(b) In(50) ~ 3.9

14. f63’”2xdx = ée?“z +C

15. <L [tan (sin (2))] = 15;5155()1)

16. z =1 — 4x2
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28.

1
/ (4m§126)% dv = -3 (42° +6) > +C

= Vita?

3

d _ ____ 3
4= larccos (3z — )] e

Y

f:p:l #dl‘ T
=0 /4—22 " 6

seCQ(az) _ 1 . 5
f\/mdzf 2(tan (z))"2 +C = NCTe

e [e(tan(?’ﬁ))} = 6z sec? (32%) e(tan(32%))

fe(212+7)xdx _ i€(2w2+7) +C

o ,,‘275‘137}7‘)2
L [arctan (327)] = 22

2x on
/ Tremwdr = 1 arctan (67) +C

r=2 1 ox
fz:% wmdx =%

+C



